2020 CCS Self-Assessment Items

ICD-10-CM DX (1-10)
1. The physician documents a severe combined immunodeficiency (SCID) due to adenosine deficiency. What
diagnosis code is assigned?

a.

aoo

2

D81.30
D81.31
D81.32
D81.39

. A patient is admitted for a gastrojejunostomy tube change due to a clogged gastrojejunostomy (GJ) tube. What

diagnosis code is assigned for the GJ tube change?

a.

b.
c.
d

3

K94.23
K94.29
K94.20
K94.39

. A 90-year-old man has a history of COPD and emphysema. He presents to the Emergency Department with

COPD exacerbation. What diagnosis code(s) should be assigned?

a.
b. 144.9,)44.1
c.

d. J44.0

4

143.9

J44.1

. The patient presents for with nosocomial gram-negative bacilli sepsis/blood stream infection, due to a midline

catheter. What diagnosis codes are assigned?

a.

5

T82.7XXA, T80.211A

b. T82.7XXA, T80.219A
[oN
d. T82.7XXA, A41.59

T82.7XXA, A41.89

. The provider documented a diagnosis of choledochoduodenal fistula with choledocholithiasis, cholecystitis and

obstruction. What diagnosis codes are assigned?

a.

b.
C.
d

6

K80.40, K83.1
K80.41, K83.3
K80.43, K83.1
K80.45, K83.3

. A patient is admitted with a midline catheter developed cellulitis of the right upper arm secondary to the

midline catheter. What diagnosis codes should be assigned?

a.

7.

T82.7XXA, L03.114

b. T82.7XXD, L03.113
C.
d. T82.7XXA, L03.115

T82.7XXA, L03.113

A 65-year-old man presents to the Emergency Department (ED) with an elevated troponin level. An acute

myocardial infarction is ruled-out. What diagnosis code should be assigned?

a.
b.

1

R79.9
R74.9



C.
d.

R77.9
R79.89

8. A 23-year-old patient presents to the Emergency Department (ED) with an acute on chronic complex left
medial meniscus tear/injury? What diagnosis code should be assigned?

a.

b
C.
d

583.232A

. $83.232D

S83.242A

. $83.242D

9. A patient is admitted with a neuroendocrine tumor of the colon with metastatic disease to the liver. What
diagnosis codes should be assigned?

a.

oo o

C7A.8, C7B.00
C7A.098, C7B.02
C7A.098, C7B.09
C7A.8,C7B.8

10. A 45-year-old female with emphysema presents to the Emergency Department with melena and
hematemesis. She was diagnosed with acute on chronic blood loss anemia due to a bleeding duodenal ulcer.
What is the diagnosis code assighnment for the acute on chronic blood loss anemia?

a.

b.
C.
d

D50.0
D62

D50.8
D50.9

ICD-10-PCS (11-17)

11.

a0 oo

o 0 oo

oo oo

A patient with lumbar spinal stenosis and spondylolisthesis with scoliosis has a decompressive laminectomy at
L2, L3 and L4 followed by spinal fusion of L3-4 and L4-5 with interbody cages. What is/are the correct root
operation(s)?

Code only Fusion for the interbody cages

Code only Insertion for the interbody cages

Code Excision for the decompressive laminectomy and Fusion for the interbody cages

Code Release for the decompressive laminectomy and Fusion for the interbody cages

A patient with carcinoma of the pancreas presents for excision. The abdomen is prepped and draped.
Incision is made in the upper abdomen and the central portion of the pancreas is excised. The pancreatic neck
and anterior body are then anastomosed to the posterior wall of the stomach. The anastomosis is reinforced
with an omental flap. What is/are the correct ICD-10-PCS code(s) for this procedure?

OFBGO0Zz

0FBG0ZZ, 0DU607Z
0FBG0ZZ, OF1G0Z3

0FBG0ZZ, 0F1G0Z3, 0DU607Z

. During an upper endoscopy, a large chronic perforation was found on the posterior wall of the stomach. A

wound vacuum assisted closure sponge was placed via endoscope onto the perforation and liquid was
suctioned into the wound VAC. What is/are the correct ICD-10-PCS code(s) for this procedure?
0DQ6877

0DQ687Z, 0D9687Z

0DH68YZ

0DU68JZ
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Patient with a pathologic compression fracture of L4 presents for Kiva® kyphoplasty. A needle was advanced
across the pedicle of L4 and into the vertebral body. The Kiva® implant was deployed and bone cement
injected into the implant to reinforce the fractured vertebral body. What is the correct ICD-10-PCS code for
this procedure?

3E0V3GC

0oQuo3Jz

0Qs034z

0SS0347

. Patient with a pilonidal cyst and sinus with multiple recurrent abscesses presents for treatment. The

resectoscope was placed in cautery mode and the pilonidal cyst and sinus were cut out using cautery. The
abscess cavity was cored out and the nonhealing sinus tract removed. The resectoscope was used again in
cautery mode to remove the chronic inflammatory tissue and simultaneously cauterize any hair-bearing area
to prevent recurrence. What is the correct ICD-10-PCS code for this procedure?

0JB932z

0JC932z

0JD93ZZ

0J593zz

. Patient with chronic COPD presents for placement of endobronchial one-way valves into the left lower lobe

bronchus via bronchoscope. What is the correct ICD-10-PCS code for this procedure?
0BUB8JZ
0BHB8GZ
0BVvVB8DZ
0BLB8DZ

. Patient with peritoneal metastasis presents for hyperthermic intraperitoneal chemotherapy with mitomycin.

Inflow and outflow cannulas were placed in the patient’s peritoneal cavity and mitomycin was perfused for
two hours. What is the correct ICD-10-PCS code for this procedure?

DWY387Z

3EO0M30Y

DWY587Z

3EOM3HZ

CPT 10 CPT Questions (18-27)

18.

Qo0 oo

oo oo

An existing percutaneous gastrostomy tube requires removal and replacement of the tube due to a clogged
device. What is the correct CPT code?

43761

43762

43763

43773

. A 63-year-old female undergoes bladder neck suspension. The surgeon uses tension-free vaginal tape for

bladder neck support. What is/are the correct CPT code(s)?
57260

57288

57288, 52000-59

57289

. An esophageal sphincter augmentation device was placed during a laparoscopic hiatal hernia repair. What

is/are the correct CPT code(s)?
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43280
43281
43280, 43284-59
43284

. A 24-year-old patient has bronchodilation responsiveness testing performed. What is/are the correct CPT

code(s)?
94010, 99070
94060, 99070
94060

94070

. APICC lined is placed with imaging guidance for a 4-year-old requiring long-term IV antibiotic therapy. What

is the correct CPT code?
36568
36572
36573
36570

. A 34-year-old female presents for a bilateral breast MRI. She is status post right mastectomy and due to

genetic mutation is at high risk for breast cancer. MRI is with and without contrast and includes the use of
computer-aided detection. What is the correct CPT code?

77046

77047

77048

77049

. Patient underwent an ORIF for a fracture of the second metatarsal head fracture. What is the correct CPT

code?
28456
28465
28475
28485

. Patient undergoes placement of a Stimware stimulator electrode at the level of the L4 vertebral body through

the epidural space. What is/are the correct CPT code(s)?
63650, C1778

63655, C1778

63685, C1778

95970

. Patient underwent removal of inferior scleral sutures by the original surgeon as a follow-up to a repair of a

ruptured globe. The procedure was performed under MAC anesthesia. What is the correct CPT code?
15850
15851
17999
66999

. Patient underwent bilateral laser reduction of a vocal cord mass via direct microlaryngoscopy. What is the

correct CPT code?
31535



b. 31536
c. 31540
d. 31541

General 3 Questions

28. In ICD-10-CM, Body Mass Index age range for adults changed from 21 years of age or older to:
a. 17 years of age or older
b. 18 years of age or older
c. 19 years of age or older
d. 20 years of age or older

29. The Medicare Code Editor Age conflict edit for Maternity Diagnoses was revised from an age range of 12 to 55
years to 9 to 64 years age.

True

b. False

b

30. When assigning a code for physeal fractures which of the following is the appropriate convention?
Assign both the type of physeal fracture and a code to identify the specific bone that is fractured
Assign only the code identifying the type of physeal fracture.

Assign only the code identifying the specific bone that is fractured.

Assign all physeal fractures as Type Il

o o0 oo



